=] i BRAITE

1 A

2 K

3 7K

4 xR

5 = (AZHER

6 T

7 B

8 A IpEX AZK (ERITI0TR)

9 e i%g%ﬁ@ =CEIYHEEE HER(13:25) MR (1FE£148F, 2~65F
o X i’i&%%@ REUBHER 0~k QFELUE) 1 FE 4B, 2~6FE 58T
11 K |AFE148, 2~6F £ 158 TAR)

1 2 gA&E%@ ZERTFEHO O—AT47T— (IEE14BF, 2~6EE 15T
13 T

14 B

15 A

16 K| RRZEREHR)

17 Ko |AREEBEFE(1 - 24E415:00, 3~6E £ 15:50 T )

is * g%iﬁ CFERRRAEGCEERE-F) 4 AZHEGER -F) KEREEAT
19 & |BEHBO1330-FRBHO PTARS TH14:30

20 +

21 B

22 A REEFAM (1FEE LIS FHEH)

23 X REEFAE (1 FEE LS H L)

24 K |RRZEROD RBEEOD

25 X |g#E REEO

26 & ER1EETDZ52UIIE)

27 T

28 B

29 A RO

30 K




